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2T T T MNATE S 2NN T D70 75 ) (77 A4 Treport0901.c)) ZAER L7 S,
SOOI, LT Y =T 0 7T 5 (77 A4 Treport0901.cl) ZZ D7 17T NTHEL,
HAENTZT XA RN T 740 (7744 [report0901.txt]) ZFHIRIL THH Lz Zv, 7235,
ANANVEFITHNILLTOL S5, (247)

2L ILEETH -

/,$ gcc —o report0901.exe report0901.c e—n://ﬁ4/v‘\
$ ./report0901.exe report0901.c report0901.txt —EATH
$
. J
EVbk:

o ITHEEZI VY NS HEMEMENT 5, HlZIX Tint 1 = 151,
o 77 AN~DOHJIE Tfprintf (fout, "%3d: %s", i, ss);| ZH\ 5,

o V—RT7u I ADEXHULIILLTO L HIT B,

@ —RIuTTAATESEMNMT T s T A report0901.c

1: #include <stdio.h>
2: #include <stdlib.h> /* for exit() */

3:

4: int main(int argc, char *argv[])
5: {

6: FILE *fin, *fout;

7: char ss[256];

8 int i = 1;

9:

10: if (argec != 3) {

11: printf ("BIE O ENET ¥n") ;
12: exit(1);
13: }

14:
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: #include <stdio.h>
: int gcd(int x, int y);

: {

1

2

3

4

5: int main(void)
6

7 int x = 672, y = 204;
8

9

: printf ("gcd(%d,%d)=hd¥n", x, y, gcd(x, y));
10:

11: return O;

12: }

13:

14: int gcd(int x, int y)
15: {

16: int tmp;

17:

18: while (y !'= 0) {
19: tmp = x % y;
20: X =Y;

21: y = tmp;

22: }

23:

24: return x;

25: }
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a2 L EETH -

4 ™
$ gcc -o gedl.exe gedl.c —a ()
$ ./gcdl.exe (T 1

672 204

gcd(672,204)=12

$ ./gcdl.exe —FEATH 2
1234 5678
gcd(1234,5678)=2

(2) MBI T XA MO p 178 D NEFIRERD LT 0 7T A (BEHEAT)) IZ8->T, T2—27 Uy
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L, Y—A27 a7 7 AEZHRBLTIRE LRIV, 2B, 20707 T L5033 )& FETH
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a2 L EETH -

4 ™
$ gcc -0 gcd2.exe gecd2.c —a ()
$ ./gcd2.exe 672 204 (Enter) —F1THI 1

gcd(672,204)=12

$ ./gcd2.exe 1234 5678 (Enter] —FATH 2
ged (1234,5678)=2




